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Model Question Paper

SANSKRIT - 15T YEAR

TIME: 3 HRS MARKS: 100
Note: 1) Question Nos. 1, 2, 3 and 14 can be answered in the medium of instruction of the candidate.
2) The remaining questions should be answered in Sanskrit only.

1. T% e@s Riear a9 fAwal

ST, TIAT I SiEEEl
T, ST o, SIESIEINRCH

2. Uk fAdsuyed gATd|
. 1o feftasr: sfa urew gmiwi foraal
AT, RATM{T: 3T TSR AR TE:|

3. T& fAaeuyes gameed|
. gefg: aefg e Feariq Tesa? foread

AT, T {7errst shef Tferaerdi?
4. IGT: T, FHTC|
3. W ST 5 STEI? 3. sl AT : 2
3. ATt set wftreat STar? 3. TST ity SAfeemt wer formmfeesr?
5. gaar: wHees saTEde faEd|
3. e LTI : IS i SIRE R RN KIPRIRRCRINREIN]
3. TRIET: T 7 9| 3. FrHTIRHIE Shiedd Hehd JUmH|
6. gAY FHwCH ATETH fo@dl
H. gHfEAT gaHed g 1. 378 HERTS Hferd g=atiH|
3. I |y e wyonfe for) 3. I gaTielt TewTHr e
7. FAON WRAT FATUTAT fA@a|
3. elct: 3t AT et AT 2 AT, FeEIsIc hIgRTH ?
3. TUSAT: e AT 7 femfeX 2 3. RACRT ¥ STAANT: TG FoITT: ?
3. feereterot for 2 3. frgarentanr: wewr: figem: 2
8. AT TR&ATT FHTHTA foraa|
3, TSTaITE: higel ToY STuwIq? 3T, ST A1Y hIgT W B 2
3. et Ot Tferq fof a2 3. =rend! fopmef afemreed ?
3. +fe forgTar aroga: 3 T o %, QATerITd slfe: %: 2d:?
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9. forrmmrgomef srverelaus for@m
STUAT
Femef arwrefaas fera)

10. gg: eregat: wiawfFas wafor el

11. ggar: grqeaior foaal
3. @iiesfd 3T, eI
12. A FfPramfadrgEs Reeaal
A, TS5 3T, g
EIEE] 3. AR

13. Aiftr afFeemiadergds wetedl
3. F + SATH: AT T+ 3

TG + 3SR 3. HE + T
14. JTaed| (ACUHTITAT HTTHTIRIT aT)
3. I Hd BT

3. Taame faenerae fa: wafd)
3. |: 3T WRIHT A TS|

15. Thel 9T GHTHTA Ged |
3. WTTEd o Theell: |fed ?
g Tﬁ'ﬁgl’ﬁ: h: ?
3. o wememetafy e 2

16. Thel Ul HHTUTA Sed |
3. TSTATe: HET HTERT Fhad ?

3. Bichaey fUel st 2
3. T A S ST ?

3. 91 3. g (&)

3. TeAq 3. Avd

D

G, HHEATIT

3. Wl + gy,
F. fIon + o9

T B 1S 2Aferer]
3978 T: TR T

1. T q T T 2
3. Sfia o grvafa ?

AT, AT o Fearrg Uesd, ?
3. WY FIH @1, ?

~
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